

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
13-15 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			Elements	Artistic Impression				Synchronization					
			J1										
			J2										
			J3										
			J4										
Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
1.	(8)		SAN NICOLÁS										
			ALMANZA LOREDO	Fernanda	Valentina	/		TORRES	Renata	Itzae			
			ACRO (1.3)	1.500	0.100	6.00	5.75	5.75	6.25	0.7692		31.3317	83.9817
			HYBRID (0.3)	2.400	0.500	5.50	5.25	6.00	6.25	0.8625			
			HYBRID (0.3)	7.400	0.500	6.00	5.00	5.75	6.00	0.8750			
			HYBRID (0.3)		7.900	5.75	5.00	6.00	5.75	13.4300			
			HYBRID (0.3)		5.900	5.75	5.00	5.50	5.75	9.8825			
			HYBRID (0.3)		3.500	5.50	5.00	5.50	5.00	5.5125			
			TOTAL DIFFICULTY	18.400	28.600								
			Choreo and Music (1.2)			5.25	6.75	6.25	5.50	21.3000		59.8500	
			Performance (1.0)			5.75	6.50	5.75	5.25	17.2500			
			Transitions (1.2)			5.25	6.75	6.00	5.75	21.3000			
			STC Small (0.1)			42				4.2000		-7.2000	
			STC Obvious (0.5)			6				3.0000			
			STC Major (3.0)			0				0.0000			
2.	(4)		AQUAVILA										
			GONZÁLEZ ELIZONDO	Celeste	/	NAVARRETE	GAYTAN	Victoria					
			ACRO (1.3)	0.900	6.00	5.50	5.75	5.75	6.7275			32.4250	83.4750
			HYBRID (0.3)	3.650	5.50	5.50	5.50	6.00	6.0225				
			HYBRID (0.3)	4.550	5.00	5.25	4.50	6.00	7.0525				
			HYBRID (0.3)	4.700	5.00	5.00	5.25	5.75	7.2850				
			HYBRID (0.3)	3.000	4.75	5.25	4.75	6.00	4.5750				
			HYBRID (0.3)	3.450	0.500	4.50	5.25	5.00	5.75	0.7625			
			TOTAL DIFFICULTY	17.300	20.250								
			Choreo and Music (1.2)			4.75	6.00	6.75	6.00	21.3000		60.0500	
			Performance (1.0)			5.00	5.75	6.50	6.25	17.7500			
			Transitions (1.2)			4.50	5.75	6.50	6.00	21.0000			
			STC Small (0.1)			65				6.5000		-9.0000	
			STC Obvious (0.5)			5				2.5000			
			STC Major (3.0)			0				0.0000			

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
13-15 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
3.	(6)		SINCRO QRO 2000										
			LUGO ALCÁNTARA Paula / PÉREZ DÍAZ Alexa										
			ACRO (1.3)		1.300	5.75	5.75	6.00	6.25	9.9992		36.1167	80.2667
			HYBRID (0.3)		5.450	4.75	5.25	6.25	6.50	9.4013			
			HYBRID (0.3)		5.650	4.50	5.00	5.50	5.75	8.8988			
			HYBRID (0.3)	4.100	0.500	4.50	4.75	4.75	5.75	0.7250			
			HYBRID (0.3)	5.150	0.500	4.25	5.00	5.00	5.50	0.7500			
			HYBRID (0.3)		4.300	4.25	4.75	5.00	5.75	6.3425			
			TOTAL DIFFICULTY		17.700	25.950							
			Choreo and Music (1.2)			4.75	5.75	6.25	5.75	20.4000		55.0500	
			Performance (1.0)			5.00	6.00	5.00	5.50	15.7500			
			Transitions (1.2)			4.75	5.75	5.25	5.25	18.9000			
			STC Small (0.1)			49				4.9000		-10.9000	
			STC Obvious (0.5)			12				6.0000			
			STC Major (3.0)			0				0.0000			
4.	(1)		CARE NL										
			ARMENDARIZ CARRIZALES Renata / RAMÍREZ GONZÁLEZ Carolina										
			ACRO (1.3)		1.300	6.00	5.25	5.50	4.50	9.0133		33.1696	65.5196
			HYBRID (0.3)	7.500	0.500	5.00	5.00	4.25	4.50	0.7125			
			HYBRID (0.3)		4.800	5.00	4.75	4.75	5.00	6.9600			
			HYBRID (0.3)		4.400	5.00	5.00	5.00	4.75	6.6000			
			HYBRID (0.3)		3.450	4.75	5.00	4.75	5.00	5.0025			
			HYBRID (0.3)		3.550	4.50	5.00	4.00	4.75	4.8813			
			TOTAL DIFFICULTY		18.000	25.000							
			Choreo and Music (1.2)			4.50	5.25	5.50	4.75	18.0000		49.0500	
			Performance (1.0)			4.75	4.75	5.00	4.75	14.2500			
			Transitions (1.2)			4.50	5.00	4.75	4.50	16.8000			
			STC Small (0.1)			42				4.2000		-16.7000	
			STC Obvious (0.5)			25				12.5000			
			STC Major (3.0)			0				0.0000			
5.	(11)		CARE NL										

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
13-15 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			LAZALDE FERRIÑO Danna Carolina / MORELOS OLIVARES Dulce Joy										
			ACRO (1.3)		0.900	5.50	5.00	6.25	5.25	6.3375		24.1450	64.9450
			HYBRID (0.3)	3.200	0.500	6.00	5.25	6.50	5.25	0.8500			
			HYBRID (0.3)		2.850	5.25	5.00	6.00	4.75	4.4175			
			HYBRID (0.3)		3.900	5.00	4.75	5.50	4.50	5.7525			
			HYBRID (0.3)		4.050	5.00	5.00	5.75	4.75	6.0750			
			HYBRID (0.3)	3.700	0.500	4.75	4.75	5.00	4.50	0.7125			
			TOTAL DIFFICULTY	12.700	18.600								
			Choreo and Music (1.2)			5.25	5.50	6.00	5.50	19.8000		55.1000	
			Performance (1.0)			5.25	5.00	5.75	5.00	15.5000			
			Transitions (1.2)			5.50	5.75	5.50	5.25	19.8000			
			STC Small (0.1)			58				5.8000		-14.3000	
			STC Obvious (0.5)			5				2.5000			
			STC Major (3.0)			2				6.0000			
6.	(10)		CLUB SINCROCAPITAL										
			PEREZ Violet / SEGOVIA Ana Gabriela										
			HYBRID (0.3)		3.600	5.50	5.00	5.25	5.75	5.7600		17.8150	61.4650
			HYBRID (0.3)	2.850	0.500	5.00	5.00	5.50	5.25	0.7750			
			HYBRID (0.3)		3.700	5.00	4.75	5.00	5.25	5.5500			
			ACRO (1.3)	1.500	0.100	6.00	5.75	5.75	5.50	0.7475			
			HYBRID (0.3)	4.200	0.500	4.75	4.75	4.75	4.75	0.7125			
			HYBRID (0.3)		3.050	4.25	4.75	4.50	5.50	4.2700			
			TOTAL DIFFICULTY	11.450	18.900								
			Choreo and Music (1.2)			5.75	5.50	5.50	5.25	19.8000		54.1500	
			Performance (1.0)			5.25	5.25	5.50	4.75	15.7500			
			Transitions (1.2)			5.00	5.75	5.25	5.00	18.6000			
			STC Small (0.1)			70				7.0000		-10.5000	
			STC Obvious (0.5)			7				3.5000			
			STC Major (3.0)			0				0.0000			

7. (5) AQUASONICS

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
13-15 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			ZHANG Evelyn / LUKAC Isabelle										
			ACRO (1.3)		1.100	5.75	5.50	5.75	6.00	8.2225	8.00	22.5263	57.6263
			HYBRID (0.3)		4.350	4.75	5.25	4.75	5.00	6.4162			
			HYBRID (0.3)	5.200	0.500	4.75	5.00	4.50	5.25	0.7250	8.00		
			HYBRID (0.3)	3.550	0.500	4.00	5.00	4.25	5.00	0.6875			
			HYBRID (0.3)		4.200	3.75	5.00	4.50	4.75	5.7750			
			HYBRID (0.3)	2.400	0.500	3.75	5.00	4.50	5.00	0.7000			
			TOTAL DIFFICULTY		11.150	20.800							
			Choreo and Music (1.2)			5.50	6.50	6.00	5.25	20.7000		58.8000	
			Performance (1.0)			6.00	7.00	6.00	5.50	18.0000			
			Transitions (1.2)			5.50	6.75	5.50	5.00	20.1000			
			STC Small (0.1)			57				5.7000		-7.7000	
			STC Obvious (0.5)			4				2.0000			
			STC Major (3.0)			0				0.0000			
8.	(3)		AQUATELY										
			NAVARRO BARCENA Melina Isabella / ROBLEDO LEDESMA Lorena										
			ACRO (1.3)		1.100	5.25	5.50	6.00	5.50	7.8650		29.3150	56.5650
			HYBRID (0.3)		4.350	5.00	5.25	5.50	5.25	6.8513			
			HYBRID (0.3)		2.400	4.75	5.00	5.75	5.75	3.8400			
			HYBRID (0.3)		2.350	4.50	5.00	5.00	5.00	3.4663			
			HYBRID (0.3)		1.700	4.25	5.00	5.25	5.00	2.5075			
			HYBRID (0.3)		3.300	4.25	5.00	5.00	4.75	4.7850			
			TOTAL DIFFICULTY		15.200	15.200							
			Choreo and Music (1.2)			4.75	5.00	5.75	5.00	18.0000		49.8500	
			Performance (1.0)			5.00	4.75	5.25	4.75	14.7500			
			Transitions (1.2)			4.75	4.75	5.25	4.50	17.1000			
			STC Small (0.1)			76				7.6000		-22.6000	
			STC Obvious (0.5)			18				9.0000			
			STC Major (3.0)			2				6.0000			
9.	(2)		AOA										
			LIMON Jimena / LIMON Valeria										

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
13-15 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			ACRO (1.3)	1.700	0.100	6.00	5.50	6.25	5.50	0.7475		12.9850	54.9500
			HYBRID (0.3)		5.150	6.25	5.25	6.00	5.75	9.0125			
			HYBRID (0.3)	4.900	0.500	5.00	5.25	6.25	6.00	0.8375			
			HYBRID (0.3)	5.650	0.500	4.75	5.00	5.75	5.75	0.8000			
			HYBRID (0.3)	5.550	0.500	4.50	5.00	5.50	6.00	0.7875			
			HYBRID (0.3)	5.150	0.500	4.25	5.25	5.25	6.00	0.7875			
			TOTAL DIFFICULTY	7.250	28.100								
			Choreo and Music (1.2)			4.50	5.50	6.50	5.50	19.8000		54.9500	
			Performance (1.0)			4.75	5.25	6.25	5.50	16.2500			
			Transitions (1.2)			4.50	4.75	5.75	5.75	18.9000			
			STC Small (0.1)			84				8.4000		-12.9850	
			STC Obvious (0.5)			9				4.5000			
			STC Major (3.0)			1				3.0000			
10.	(9)		AQUATELY										
			PATLAN ALMANZA Lucia Valeria / VERA HERRERA Samantha										
			ACRO (1.3)		1.100	6.00	5.00	5.75	5.75	8.1033		16.5533	48.5000
			HYBRID (0.3)	4.350	0.500	5.00	4.75	5.50	4.75	0.7375			
			HYBRID (0.3)		3.800	5.00	4.75	5.00	5.00	5.7000			
			HYBRID (0.3)	1.700	0.500	5.00	4.50	4.75	4.75	0.7125			
			HYBRID (0.3)	2.400	0.500	4.25	4.75	4.25	4.50	0.6625			
			HYBRID (0.3)	1.850	0.500	4.00	4.50	4.25	4.25	0.6375			
			TOTAL DIFFICULTY	6.900	15.200								
			Choreo and Music (1.2)			4.75	4.50	5.00	5.00	17.4000		48.5000	
			Performance (1.0)			4.50	4.75	5.00	4.50	14.0000			
			Transitions (1.2)			4.75	4.50	4.75	4.75	17.1000			
			STC Small (0.1)			74				7.4000		-16.5533	
			STC Obvious (0.5)			26				13.0000			
			STC Major (3.0)			2				6.0000			

DSQ 11. (7) CF

ESTRADA BORJA Valentina / PAGUILLA MORENO Aili / SANTAMARIA JIMENEZ Valentina

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
13-15 Women Duet Finals

FIIVE

www.sincro.mx

7 NOV. 2025

Code	Rank	Draw	Swimmer	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
			ACRO (1.3)		0.500	5.50	5.25	5.25	5.50	3.4667		16.1404	0.0000
			HYBRID (0.3)		2.600	4.75	4.75	5.25	5.75	3.9000			
			HYBRID (0.3)		3.250	4.75	4.75	5.00	5.00	4.7125			
			HYBRID (0.3)	3.450	0.500	5.00	4.75	4.50	4.75	0.7125			
			HYBRID (0.3)	3.650	0.500	4.75	4.75	4.75	4.50	0.7125			
			HYBRID (0.3)		1.850	4.75	4.75	4.25	5.50	2.6363			
			TOTAL DIFFICULTY	9.200	15.300								
			Choreo and Music (1.2)			5.00	5.00	5.25	5.25	18.3000		51.5500	
			Performance (1.0)			5.25	5.25	4.75	5.00	15.2500			
			Transitions (1.2)			5.00	5.00	5.50	4.75	18.0000			
			STC Small (0.1)			64				6.4000		-14.4000	
			STC Obvious (0.5)			16				8.0000			
			STC Major (3.0)			0				0.0000			